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Note : This paper is of eighty (80) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, méhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. How does Management Accounting differ from 

Financial Accounting ? Explain the limitations of 

Management Accounting. 

izcU/kdh; ys[kkfof/k foŸkh; ys[kk fof/k ls fdl izdkj fHké 

gS \ izcU/kdh; ys[kkfof/k dh lhekvksas dks crkb,A 

2. What is meant by working capital ? Discuss such 

factors which exercise influence on the demand of 

working capital in business concern. 

dk;Z’khy iw¡th dk D;k vFkZ gS \ mu lHkh dkjdkasa  dk o.kZu 

dhft, tks fdlh O;kolkf;d laLFkku esa dk;Z’khy iw¡th dh 

ek¡x dks izHkkfor djrs gSaA 

3. X Ltd. is considering the purchase of a machine. Two 

machines A and B are available each costing 

` 1,50,000. Earning  after taxation are expected to be 

as follows : 

Year 

Cash Inflow 

Machine A 

(`) 

Machine B 

(`) 

1 

2 

3 

4 

5 

37,500 

50,000 

50,000 

37,500 

25,000 

25,000 

62,500 

50,000 

50,000 

12,500 
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Indicate which machine would be more profitable 

investment by Present Value method. Discounting 

factors @ 8% are : 

Year Factor 

1 

2 

3 

4 

5 

0.926 

0.857 

0.794 

0.735 

0.681 

,Dl fy- ,d e’khu [kjhnuk pkgrh gSA nks e’khusa A rFkk B 

ftuesa izR;sd dh ykxr ` 1]50]000 gS] miyC/k gSaA dj ds 

i’pkr~ vuqekfur vk; fuEu izdkj gS % 

 udn varokZg 

o”kZ e’khu A  e’khu B 

1 

2 

3 

4 

5 

37,500 

50,000 

50,000 

37,500 

25,000 

25,000 

62,500 

50,000 

50,000 

12,500 

orZeku ewY; i)fr ds }kjk crkb, dkSu lh e’khu vf/kd 

ykHkizn fofu;ksx gksxk \ 8% ij cêk dkjd fuEufyf[kr gSa % 

o”kZ Factor 

1 

2 

3 

4 

5 

0.926 

0.857 

0.794 

0.735 

0.681 
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4. Prepare Cash Flow statement from the following 

Balance Sheets : 

Liabilities 
2015 

(`) 

2016 

(`) 

Share Capital 4,00,000 5,00,000 

General Reserve 1,25,000 1,35,000 

P & L A/c 1,10,000 1,90,000 

12% Debenture 2,00,000 1,50,000 

14% Loan 1,00,000 1,60,000 

Creditors 80,000 95,000 

 10,15,000 12,30,000 

 

Assets 
2015 

(`) 

2016 

(`) 

Machinery 5,00,000 7,00,000 

Investment (Long-term) 70,000 56,000 

Stock 2,10,000 2,80,000 

Debtors 1,40,000 1,14,000 

Cash 20,000 40,000 

Banka 50,000 20,000 

Share issue expenses 25,000 20,000 

 10,15,000 12,30,000 

Total interest paid during the year ` 37,500. 
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fuEufyf[kr fpëksa lss jksdM+ izokg fooj.k cukb, % 

nkf;Ro 
2015 

(`) 

2016 

(`) 

va’k iw¡th 4,00,000 5,00,000 

lkekU; lap; 1,25,000 1,35,000 

ykHk&gkfu [kkrk 1,10,000 1,90,000 

12% _.ki= 2,00,000 1,50,000 

14% _.k  1,00,000 1,60,000 

ysunkj 80,000 95,000 

 10,15,000 12,30,000 

 

lEifŸk;k¡ 
2015 

(`) 

2016 

(`) 

e‘khujh 5,00,000 7,00,000 

fofu;ksx ¼nh?kZdkyhu½ 70,000 56,000 

jgfr;k 2,10,000 2,80,000 

nsunkj 1,40,000 1,14,000 

udn 20,000 40,000 

cSSd 50,000 20,000 

va’k fuxZeu O;; 25,000 20,000 

 10,15,000 12,30,000 

o”kZ esas dqy C;kt dk Hkqxrku fd;k ` 37]500A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Discuss the functions of Management Accountant. 

izcU/k ys[kkiky ds dk;ks± dk o.kZu dhft,A 

2. State the items included in external liabilities and 

internal liabilities. 

cká nkf;Ro rFkk vkUrfjd nkf;Roksasa esa ’kkfey enksa dks 

crkb,A 

3. Explain the following : 

(i) Stock turnover ratio 

(ii) Debt equity ratio 

(iii) Average collection period 

fuEufyf[kr dks le>kb, % 

(i) LdU/k vkorZ vuqikr 

(ii) _.k lerk vuqikr 

(iii) vkSlr olwyh vof/k 
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4. The current ratio of X Ltd. is 4.5 : 1 and liquid ratio is 

3 : 1. Stock is ` 60,000. What are current liabilities ? 

,Dl fy- dk pkyw vuqikr 4-5 % 1 rFkk rjy vuqikr 3 % 1 

gSA jgfr;k ` 60]000 gSA pkyw nkf;Ro fdrus gSa \ 

5. S Ltd. issue 3000, 7% debentures of ` 500 each and for 

which company paid following expenses : 

Brokerage 1

2
2 %  2, Other expenses ` 4,500.  

Assuming Tax Rate is 45%. Find cost of capital. 

,l fy- us 3000] 7% _.ki= izR;sd ` 500 okys fuxZfer 

fd;sA dEiuh us fuEufyf[kr O;; fd;s % 

nykyh 1

2
2 % ] vU; O;; ` 4]500A 

dj dh nj 45% ekurs gq, iw¡th dh ykxr Kkr  

dhft,A 

6. State the main characteristics of a good report. 

,d vPNh fjiksVZ dh izeq[k fo’ks”krk,¡ crkb,A 

7. Define Responsibility Accounting. What steps are 

being taken for introducing it ? 

mŸkjnkf;Ro ys[kkadu dh ifjHkk”kk nhft,A bldks ykxw djus 

ds fy, dkSuls dne mBk;s tk jgs gSa \ 

8. Explain the meaning of importance of working capital. 

dk;Z’khy iw¡th ds vFkZ rFkk egRo dh O;k[;k dhft,A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following are True or False : 

crkb;s fd fuEufyf[kr dFku lR; gSa vFkok vlR; % 

1. Coast of fictitious assets is included in capital 

employed. 

fofu;ksftr iw¡th esa d`f=e lEifŸk dh ykxr lfEefyr gksrh 

gSA 

2. Combined leverage is the result of total financial 

leverage and operating leverage. 

la;qDr mŸkksyd foŸkh; vkSj ifjpkyu yhojst ds ;ksx dk 

ifj.kke gSA 

3. Cost of debentures is the rate of interest that is to be 

paid by company to debenture holders. 

dEiuh }kjk _.ki=/kkfj;ksa dks ns; C;kt _.ki=ksa dh ykxr 

gksrh gSA 

4. Ideal current ratio is 2 : 1. 

vkn’kZ pkyw vuqikr 2 % 1 gksrk gSA 
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5. If operating ratio is 75%, the net profit ratio will be 

25%. 

;fn ifjpkyu vuqikr 75% gks rks ‘kq) ykHk vuqikr 25% 

gksxkA 

Fill in the blanks : 

fjDr LFkku Hkfj;s % 

6. Cost of machine is ` 2,00,000 and annual cash flow is 

` 40,000. Payback period will be ............ . 

e’khu dh ykxr ` 2]00]000 rFkk okf”kZd jksdM+ izokg 

` 40]000 gS rks vnk;xh vof/k 
--------------

 gksxhA 

7. Excess of current asset over current liability is called 

............... . 

py lEifŸk;ksa ds py nkf;Roksa ij  vkf/kD; dks dgrs 
-------------- 

gSaA 

8. The total of working capital and current liabilities is 

called ............ . 

dk;Z’khy iw¡th rFkk pkyw nkf;Ro dk ;ksx
--------------

 dgykrk gSA 

9. Management Accounting is useful in increasing ........... 

izcU/kdh; ys[kkfof/k  
-------------- 

esa o`f) ds fy, mi;ksxh gSA 

10. Management Accounting provides valuable services to 

management in performing .......... . 

izcU/kdh; ys[kkfof/k izcU/k dks 
-------------- 

esa cgqewY; lsok,¡ iznku 

djrh gSA 
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